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[Question ID = 2667][Question Description = Q31_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10131]
2. 2 [Option ID = 10132]
3. 3 [Option ID = 10133]
4. 4 [Option ID = 10134]
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[Question ID = 2668][Question Description = Q32_Nepali_SHAAN_NOVZ21]
1. 1 [Option ID = 10135]
2. 2 [Option ID = 10136]
3. 3 [Option ID = 10137
4. 4 [Option ID = 10138]
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(3)  Geolld I (4)  FoTIEI Hoal

[Question ID = 2669][Question Description = Q33_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10139)
2. 2 [Option ID = 10140]
3. 3 [Option ID = 10141]
4. 4 [Opticn ID = 10142]

34)
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[Question ID = 2670][Question Description = Q34_Nepali_SHAAN_NOV21]
. 1 [Option ID = 10143]
. 2 [Option ID = 10144]
. 3 [Option ID = 10145]
4 [Option ID = 10146]
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[Question ID = 2671][Question Description = Q35_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10147]
2. 2 [Optien ID = 10148]
3. 3 [Optien ID = 10149]
4. 4 [Option ID = 10150]
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[Question ID = 2672][Question Description = Q36_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10151]
2. 2 [Option ID = 10152]
3. 3 [Option ID = 10153]
4. 4 [Option ID = 10154]
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[Question ID = 2673][Question Description = Q37_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10155]
2. 2 [Option ID = 10156]
3. 3 [Option ID = 10157]
4, 4 [Option ID = 10158]

prepp

Your Personal Exams Guide



www.prepp.in

| 38)

STEHIIRIIE, SaFRIET TRId ATITdEl TRl WUseHeaeh! harasihl Hid Fel il &7
(1) e &id giaa s

(2) aSgaYE ‘SRee e

(3)  FIPHAD g Bierds g durel

@ Saarerefs Agia Aar afasu

[Question ID = 2674][Question Description = Q38_Nepali_SHAAN_NOVZ1]
1. 1 [Optien ID = 10159]
2. 2 [Option ID = 10160]
3. 3 [Option ID = 10161]
4. 4 [Option ID = 10162]
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(1) AL B-II. C-III. D-IV
2y AL B-1IV. C-I. D-1I1
3y AL B.ICIV, DII
4) AIV.B-III C-II D-I

[Question ID = 2675][Question Description = Q39_Nepali_SHAAN_NOV21]

oW

40)

. 1 [Option ID = 10163]
2 [Option ID = 10164]
3 [Option ID = 10165]
. 4 [Option ID = 10166]
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[Question ID = 2676][Question Description = Q40_Nepali_SHAAN_NOV21]
1. 1 [Optien ID = 10167]
2. 2 [Optien ID = 10168]
3. 3 [Optien ID = 10169]
4. 4 [Option ID = 10170]
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[Question ID = 2677][Question Description = Q41_Nepali_SHAAN_NOV21]
| 1. 1 [Option ID = 10171]
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| 2. 2 [Option ID = 10172]
3. 3 [Option ID = 10173]
4. 4 [Option ID = 10174]
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[Question ID = 2678][Question Description = Q42_Nepali_SHAAN_NOVZ1]
1. 1 [Option ID = 10175]
2. 2 [Option ID = 10176]
3. 3 [Option ID = 10177]
4. 4 [Option ID = 10178]
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[Question ID = 2679][Question Description = Q43_Nepali_SHAAN_NOVZ1]
1. 1 [Option ID = 10179]
2. 2 [Option ID = 10180]
3. 3 [Option ID = 10181]
4. 4 [Option ID = 10182]
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[Question ID = 2680][Question Description = Q44_Nepali_SHAAN_NOVZ1]
1 [Option ID = 10183]
2 [Option ID = 10184]
3 [Option ID = 10185]
4 [Option ID = 10186]
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(3) Y Hedl (4) 3ageer

[Question ID = 2681][Question Description = Q45_Nepali_SHAAN_NOV21]
1. 1 [Optien ID = 10187]
2. 2 [Optien ID = 10188]
3. 3 [Option ID = 10189]
4. 4 [Option ID = 10190]
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I ge1?
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[Question ID = 2682][Question Description = Q46_Nepali_SHAAN_NOV21]

1, 1 [Option ID = 10191]
2. 2 [Option ID = 10192]
3. 3 [Option ID = 10193]
4. 4 [Option ID = 10194]
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[Question ID = 2683][Question Description = Q47_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10195]
2. 2 [Option ID = 10196]
3. 3 [Optien ID = 10197]
4. 4 [Option ID = 10198]
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[Question ID = 2684][Question Description = Q48_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10199
2. 2 [Optien ID = 10200]
3. 3 [Optien ID = 10201]
4. 4 [Option ID = 10202]

49)
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[Question ID = 2685][Question Description = Q49_Nepali_SHAAN_NOVZ1]
1. 1 [Option ID = 10203]
2. 2 [Opticn ID = 10204]
3. 3 [Option ID = 10205]
4, 4 [Option ID = 10206]
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AfeT fes et faseagsaie TE 3cak =de ART
(1) A1 B-II. C.I11, D-1IV
(2) A-IV, B-1. C-1I, D-III
(3) A.TI. B-IV. C-IIT, D-1
{4) ATl B-1IV, C-1I, D-111

[Question ID = 2686][Question Description = Q50_Nepali_SHAAN_NOV21]

o 2

. 1 [Option ID = 10207]
2 [Option ID = 10208]
3 [Optien ID = 10209]
. 4 [Option ID = 10210]
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[Question ID = 2687][Question Description = Q51_Nepali_SHAAN_NOVZ1]
1. 1 [Option ID = 10211]
2. 2 [Optien ID = 10212]
3. 3 [Option ID = 10213]
4, 4 [Option ID = 10214]
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[Question ID = 2688][Question Description = Q52_Nepali_SHAAN_NOVZ1]
1. 1 [Optien ID = 10215]
2. 2 [Option ID = 102186]
3. 3 [Option ID = 10217]
4. 4 [Option ID = 10218]
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[Question ID = 2689][Question Description = Q53_Nepali_SHAAN_NOVZ1]

1. 1 [Option ID = 10219]
2. 2 [Option ID = 10220]
3. 3 [Option ID = 10221]
4, 4 [Option ID = 10222]
54)
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3y AIBLCIV.D-II
4) A-IV.B-IIT. C-O, D-1

[Question ID = 2690][Question Description = Q54_Nepali_SHAAN_NOVZ1]
1. 1 [Option 1D = 10223]
2. 2 [Option ID = 10224]
3. 3 [Option ID = 10225]
4. 4 [Option ID = 10226]

23) e YR oS 7 ar 9o giturs WY Ave s |



www.prepp.in

Irar ars IR ATET Hgmqrqﬁﬁﬂ‘rmﬁtgl‘

- STiefHerieRl UATIOTHT SEATSeR] T STFAAT oot B! =itens ul Silee gy AlcAven g

1)
@
3

4)

[Question ID = 2691][Question Description = Q55_Nepali_SHAAN_NOV21]
1. 1 [Optien ID = 10227]
2. 2 [Optien ID = 10228]
3. 3 [Option ID = 10229]
4. 4 [Option ID = 10230]
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(2) A-IV, B-1. C-1I, D-III
(:3) ATl B-IIT, C-IV, D-1
(4) ATI B-I, C-IV, D-II1

[Question ID = 2692][Question Description = Q56_Nepali_SHAAN_NOVZ1]
1. 1 [Option ID = 10231]
2. 2 [Option ID = 10232]
3. 3 [Option ID = 10233]
4. 4 [Option ID = 10234
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4) A-IOI B-IV, C-1, D-II

[Question ID = 2693][Question Description = Q57_Nepali_SHAAN_NOV21]
1. 1 [Optien ID = 10235]
2. 2 [Optien ID = 10236]
3. 3 [Optien ID = 10237]
4. 4 [Option ID = 10238]
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[Question ID = 2694][Question Description = Q58_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10239]
2. 2 [Option ID = 10240]
3. 3 [Option ID = 10241]
4. 4 [Opticn ID = 10242]
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[Question ID = 2695][Question Description = Q59_Nepali_SHAAN_NOV21]
1. 1 [Optien ID = 10243]
2. 2 [Optien ID = 10244]
3. 3 [Optien ID = 10245]
4. 4 [Option ID = 10246]
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(1) AILB-II CLD-IV
(2) AL B-III. C-IV. D-I
(3) ATV, BI1 CIIL D-III
(4) A.IT, B-I, C-IV, D-IT

[Question ID = 2696][Question Description = Q60_Nepali_SHAAN_NOVZ1]
1. 1 [Option ID = 10247]
2. 2 [Option ID = 10248]
3. 3 [Option ID = 10249]
4, 4 [Option ID = 10250]
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(3)  CTUEER ol wsEarar aiy
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[Question ID = 2697][Question Description = Q61_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10251]
2. 2 [Optien ID = 10252]
3. 3 [Optien ID = 10253]
4. 4 [Option ID = 10254]
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[Question ID = 2698][Question Description = Q62_Nepali_SHAAN_NOVZ1]
1. 1 [Option ID = 10255]
2. 2 [Option ID = 102586]
3. 3 [Option ID = 10257]
4. 4 [Option ID = 10258]

63)
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[Question ID = 2699][Question Description = Q63_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10259]
2. 2 [Option ID = 10260]
3. 3 [Option ID = 10261]
4. 4 [Opticn ID = 10262]
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[Question ID = 2700][Question Description = Q64_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10263]
2. 2 [Optien ID = 10264]
3. 3 [Optien ID = 10265]
4. 4 [Option ID = 10266]
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[Question ID = 2701][Question Description = Q65_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10267]
2. 2 [Option ID = 10268]
3. 3 [Option ID = 10269]
4. 4 [Option ID = 10270]
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(3)  ITURYL, 5T, HauT (4) 9aHd, 3TUROTL, HAUT

[Question ID = 2702][Question Description = Q66_Nepali_SHAAN_NOVZ1]
1. 1 [Option ID = 10271]
2. 2 [Option ID = 10272]
3. 3 [Option ID = 10273]
4. 4 [Option ID = 10274

67)
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(1)  3nfeawor (2) TTolIOT
(3) Ydcoder=d (9 9 Fcdicd

[Question ID = 2703][Question Description = Q67_Nepali_SHAAN_NOVZ21]
1. 1 [Option ID = 10275]
2. 2 [Option ID = 10276]
3. 3 [Option ID = 10277
4. 4 [Option ID = 10278]

*8) s wange 3 AR aRe et sruia carier sfeq ugrade) 3t Har

(1) e TURS Taeteal J7ifeia oS gl
(2) mmmmmﬁmﬁm:@u
(3)  CAIMETHT TR Tet TSI 9w 3teafaiied Setl

@)  ourfes g FolstegT AT Wibfde HINT 8|

[Question ID = 2704][Question Description = Q68_Nepali_SHAAN_NOV21]
1. 1 [Optien ID = 10279]
2. 2 [Optien ID = 10280]
3. 3 [Optien ID = 10281]
4. 4 [Option ID = 10282]
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[Question ID = 2705][Question Description = Q69_Nepali_SHAAN_NOV21]
1. 1 [Optien ID = 10283]
2. 2 [Optien ID = 10284]
3. 3 [Option ID = 10285]
4. 4 [Option ID = 10286]
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[Question ID = 2706][Question Description = Q70_Nepali_SHAAN_NOV21]

1. 1 [Option ID = 10287]
2. 2 [Option ID = 10288]
3. 3 [Option ID = 10289]
4, 4 [Option ID = 102%0]
71)
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[Question ID = 2707][Question Description = Q7 1_Nepali_SHAAN_NOV21]
1. 1 [Optien ID = 10291]
2. 2 [Optien ID = 10292]
3. 3 [Optien ID = 10293]
4. 4 [Option ID = 10294]
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[Question ID = 2708][Question Description = Q72_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10295]
| 2. 2 [Option ID = 10296]
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| 3. 3 [Option ID = 10297]
4. 4 [Option ID = 10298]

73)

fAugarq. F27 I FATH FEFED! THATTHT Tl 9Tl FTATDR Felol TOSHT el Tifgegent
Wm‘-ﬁméﬁam@ﬁmmﬁ?ﬁmaﬁw

(1) SR @) wAfawEA Faen
(3)  eRcHes UH HETS @) FARSGIGT Sirefr

[Question ID = 2709][Question Description = Q73_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10299]
2. 2 [Option ID = 10300]
3. 3 [Option ID = 10301]
4, 4 [Option ID = 10302]

74) ool T TRed AU €, 5, 5, & FEl cA>Sie] Goi?
1 adgacs (2) SehacH
@) e @ e

iy

[Question ID = 2710][Question Description = Q74_Nepali_SHAAN_NOVZ21]
1. 1 [Option 1D = 10303]
2. 2 [Option ID = 10304]
3. 3 [Option ID = 10305]
4. 4 [Option ID = 10306]

75)
WETos AT HTTST! TP HIGeH ShehIcHep HSehelel T TAAGEH TSI Fo] Hot HINH!
Tel?
(1)  gumr (2) wifaar
(3)  gocHr 4 ¥

[Question ID = 2711][Question Description = Q75_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10307]
2. 2 [Option ID = 10308)
3. 3 [Option ID = 10309]
4. 4 [Option ID = 10310]

76
) S AfFicTard 1o Worebr 37T STeIeT IRTEH AT TRATY I FHIAL FUH! ATIETer FAT
W oIt aT 3edalahTHT S iadrers & faes?

(1) gAEEd (2) T

LY

@)  eHfaar 4 wfded

[Question ID = 2712][Question Description = Q76_Nepali_SHAAN_NOV21]
1, 1 [Option ID = 10311]
2. 2 [Option ID = 10312)
3. 3 [Option ID = 10313]
4. 4 [Option ID = 10314]

77 ey Grese] g SlteT o @s?
Aot GHSN SleT|
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3T TTts] §Tell WIS RIAelod, ?
ofes afs anSioa sfake
ST U= g1 Sl 7o 3 fafee... 1

- STl el WiigeadT 3udead Aiid T A Rfaws?

(1) ==y @ da
(3)  HETEer ) TS

[Question ID = 2713][Question Description = Q77_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10315]
2. 2 [Option ID = 10316]
3. 3 [Option ID = 10317]
4. 4 [Option ID = 10318]

78

} $. touy AT ZIfaiels T @HTS HETHT AUTerah! ‘STell dhell HUSTr-of T62le T1eh! ITadsuT Taean fafad
RS siiees Bt F0?
Q) geeg 2) Hgw g
3 mfEE 4 AT 3aq

[Question ID = 2714][Question Description = Q78_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10319]
2. 2 [Option ID = 10320]
3. 3 [Option ID = 10321]
4. 4 [Option ID = 10322]

79)
WWWW—WW%T@

(1) Il iget (2) SR Figet
(3)  Tenid @A (4) Taeged @A

[Question ID = 2715][Question Description = Q79_Nepali_SHAAN_NOV21]
. 1 [Option ID = 10323]
2 [Option ID = 10324]
3 [Option ID = 10325]
. 4 [Option ID = 10326]

oW =

80
: F Aol HlehT BIcHeh! fahell FUH! & - TG Blciehl Tahell HAL b HAloTUehl gI?

1) TR (2) T AR

(3 R (4) T TSRAT SR UTA Gl

[Question ID = 2716][Question Description = Q80_Nepali_SHAAN_NOV21]
1. 1 [Optien ID = 10327]
2. 2 [Optien ID = 10328]
3. 3 [Option ID = 10329]
4. 4 [Option ID = 10330]

81)
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(1)  Jderary (2) 3reaiferar wadr
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[Question ID = 2717][Question Description = Q81_Nepali_SHAAN_NOVZ21]
1. 1 [Option ID = 10331]
2. 2 [Option ID = 10332]
3. 3 [Option ID = 10333]
4. 4 [Option ID = 10334]

58 AT FeTT T dleg a7 Arral ferfa=#r — g, f5&. X, 31, g1 d. - SRal SSRGS ST

T TS| TFAGER ACNIHAT AR Ieleot IR o FrafI=ar aqd 3= A Johe MFells &

sTfele?
1y  gsswwor (2) HUGT HAUT HoTHH
(3)  FARIY T afAsoT (4) IEgEE I

[Question ID = 27 18][Question Description = Q82_Nepali_SHAAN_NOV21]
1. 1 [Optien ID = 10335]
2. 2 [Optien ID = 10336]
3. 3 [Optien ID = 10337]
4. 4 [Option ID = 10338]

%3 rareht rorfern “shtaer T S R T AT MR @7

Q) GeIEeE M T R
(2)  F01ag Alddica AT GTAr

3y  TIgeTerd UHEN ‘Siadd ooiee

@ e sl “sdefaas

[Question ID = 2719][Question Description = Q83_Nepali_SHAAN_NOVZ1]
1. 1 [Optien ID = 10339]
2. 2 [Option ID = 10340]
3. 3 [Option ID = 10341]
4. 4 [Option ID = 10342]

54 'SIEY TS ST IHOH AT |ivam
Aoty W] Hol AU Joehl THI ST
-Hﬂﬁmmwﬁmﬁﬁ
(1) I Gt (2) YA affsa
(3) ASCATTHS (4 TwATHE

[Question ID = 2720][Question Description = Q84_Nepali_SHAAN_NOVZ1]
. 1 [Optien ID = 10343]
. 2 [Option ID = 10344]
. 3 [Option ID = 10345]
4 [Option ID = 10346]

oL B

85)
o HAw fawig #E aolr g1 & for vemfoas faemy -weivag SameE a@t Acded &
ST TreaTHT caad 7T &7

(1) Ao AFIHT (2) MR
(8)y  TEOT AT (4) Faeir

[Question ID = 2721][Question Description = Q85_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10347]
2. 2 [Option ID = 10348)
| 3. 3 [Option ID = 10349]
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| 4. 4 [Option ID = 10350

86)
HeeArS T WRFURIAT of AHURT P IR HIGeAR! T AR ARRTAT TIST TRIRY §losl ool STl

Taearet eae Ge1l - T sioel ARAPR A Gol?

(1)  THFT AT (2) VTS et
(3)  SooABIGI S (4) IR SARS

[Question ID = 2722][Question Description = Q86_Nepali_SHAAN_NOVZ1]
1. 1 [Option ID = 10351]
2. 2 [Option ID = 10352]
3. 3 [Option ID = 10353]
4. 4 [Option ID = 10354]

87)
Weirel foisietah! Hiddl ‘dcH aTn! T aﬁémaﬂamm‘fﬁrgag

1 dNem (2) EEIE FAS
(3)  3NfsamET Iasd (4) IEAOT g

[Question ID = 2723][Question Description = Q87 _Nepali_SHAAN_NOV21]
1. 1 [Optien ID = 10355]
2. 2 [Optien ID = 10356]
3. 3 [Optien ID = 10357]
4. 4 [Option ID = 10358]

88
) USHTS Herd) DI T WAL urfy

TcaTeh! SICTRT T el 87T Sicir| 1

- T AT FoTeh 7 Fol e T T &2

(1) HASAST-ITeT G IaeAT aolsl

2) IR IMBAGEATS 5] GHITARI SATIRIETS FeTaT

(3)  TITSITASHT STUHI FThicieh TceITa avid

(4)  DICAAT AT 35T TJdT Gl TR ITARR! T3
[Question ID = 2724][Question Description = Q88_Nepali_SHAAN_NOV21]
. 1 [Optien ID = 10359]
. 2 [Option ID = 10360]

1
2
3. 3 [Option ID = 10361]
4. 4 [Option ID = 10362]

89)
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AR 53 X el ST O

1) GRE] 2y 39
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[Question ID = 2725][Question Description = Q89_Nepali_SHAAN_NOV21]
1. 1 [Option ID = 10363]
2. 2 [Option ID = 10364]
3. 3 [Option ID = 10365]
4, 4 [Option ID = 10366]
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(D I3H AR (2) ARl TagE
(3)  wfadm faeey S (4) ETarhs

[Question ID = 2726][Question Description = Q90_Nepali_SHAAN_NOV21]
1 [Option ID = 10367]
2 [Option ID = 10368]
[Option ID = 10369]
]

1.
2.
3.3
4. 4 [Option ID = 10370

Topic:- GP_SetZ_C

1) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere, India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The commeon culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration, Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linked the people to common traits, There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable,

Frerifia T ) ey st A e o A B v G ;
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India’s cultural diplomacy is centered around

(A) Ramayan

(B} Multilateral engagements

(C) Business Promotion

(D) People to people contacts

Choose the correct answer from the options given below :
(1) (A) and (D) only (2} (A), (C) and (D) only

(3) (B}, (C) and (D) only (4) {(B) and (D) only

wrA il e FAi Fea 7, A W
CVRLIEL

(B) wgEaa- TRy

(C) =AMR-TaH

(D) AT Tous

it fau 7T forpeut # O GE I R 999 Hify ;

(1) =a= (A) 3R (D)
(2 FEE (A), (O (D)
(3)  =a (B). (C) 3R (D)
@) ¥ (B) AR (D)

[Question ID = 3557][Question Description = Q46_GP_20NOV_52_SHAAN_Shift2]
1. 1

[Option ID = 13691]
2. 2

[Option ID = 13692]
3.3

[Option ID = 13693]
4, 4

[Option ID = 13694]

2) Read the passage carefully and answer the question that follow
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India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit, The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts, People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga,

India’s soft power status varies with the regions, In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions, The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The common thread binding India and South East Asian Countries is/are
(A) Buddist tenets
(B) Yoga

(C) Cricket
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(D} Ramayan

(E) Sanskrit

Choose the correct answer from the options given below :
(1) (A) only  (2) (A), (B}, (C) and (D) only

(3) (A) and (D) only  (4) (A), (B), (D) and (E) only
YR TF - U % N - -
&) sigE

B) =
(C) Torhe
(D) TEEW
(E) wwpd

5 fau v faereut 4 o TE 39 % 9 it

(1) 3 (A) (2) Faa A), (B), (C) 31 (D)
(3 FAw (A) 3R (D) @) FaF(A), (B) 3 (E)

[Question ID = 3558][Question Description = Q47_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13695]
2. 2 [Option ID = 13696]
3. 3 [Option ID = 13697]
4, 4 [Option ID = 13698]

3) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity,
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore, The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration, Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable,
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Which of the following is not reflective of India’s soft power status?
(1) Digital India (2) Skill India

(3) Business Promaotion (4) Yoga Diplomacy
freafafiga § @ i vra 1 9z wfe-feuf = el 78 = 27

(1)  fsfaea gfem (2) T aRd
(8) SAMH-HaEd (4) aAr-meifa

[Question ID = 3559][Question Description = Q48_GP_20NOY_52_SHAAN_Shift2]
1. 1 [Option ID = 13699]
2. 2 [Option ID = 13700]
3. 3 [Option ID = 13701]
4. 4 [Option ID = 13702]

4) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit, The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore, The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.,
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts, People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions, In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions, The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.
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UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable,

Frerifea T R ey st A R o A B s G

qra, i@, I, T2, am-ae, e, Fee-wa, saemn-agh, T o sweea & T %
TeE TS YUSH § § TF 2 o wHthd ® U o190 WEha® Auea” ® ®9 4 WE e 2| o o %
<fim % forg vra H sl e don w0 w@w 21 e H wfen gl ool % e
UFTE ARE-EH, SHI &t S % R el Rl e et @ R w9 % e A
SE-Igid v aHml W aRdE forea w5 gra-waE 2 g g H e men-foawan, wan, = sl
TRfieral = i el TR v g favaw 2

3q & A Al S GEpd 8 S GEEaTy 3| Taaal S S T Afd IcEe ° gArE St 3 o A
i -aiized w1 e o 21 g gléor-ge-ufern & e denfd w0 v afeiae 2

IR 3R SEO-Yd TR % WHI SEFA-949 G -HOHd = AT ar I THE 8| SRR At |
TH A TS TEE-TS § AW SEU AR IR B gg B 0 3| Arh OGS SRS Bl
af= #i S0 1 uriglien Fafor e s % o @ o = 3w % S F seE-TER o Seeiea
Forar = T ) wEnE Hi-sATreE SPASEYE % uoE <ml % el wew, fen, fym, quaw, @ifa, 9w
Ww%émﬁm@%?m—maﬁﬁﬁa%ﬂﬁmﬁmm%l

IRa H TH wre-Fal, & F WA AT 7 H-gh - § dig WEp YR P 9H &9 ¥
st 21

fog wemrdE 2o A Hew wfEe (Wega) o G Remaet A ded 21 9 T Ter-ga
SHTHR U 3T F, A Ge-uia S ofieiorn wa uiey oThe % WY, Thehe @ SeEEl % g
T T 2| SRl i T FAl 37 B Ao e 3| WRd 1 T UhRh-Rdtd % FE % gar
g A 9nd % ¢ fEn-feiee sEm, smn-dads ot Aot % TeAn U wEdE w9 4 o
Le]

TACH Hirg%%'egzﬁ%%ﬁmmﬁﬁmmmmzﬁﬁﬁaﬁw 2| TEren e, mmweﬂtnﬁ:{
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Cultural exchanges amongst the member nations of the Shanghai Cooperation Organisation are in the following fields :
(A) Archeology
(B) Folklore
(C) Tourism
(D) Yoga
(E) Education
Choose the correct answer from the options given below :
(1) (A), (C), (D} and (E) only  (2) (A), (B), (C} and (E}) only
(3) (A), (B) and (E) only (4) (B}, (C), (D) and (E) only
TS i - ST AT % TG oG9 o1 FEHiaw STeH-aA - &mf 7 87
(&)  Jua™
(B) wh-TiRe
(C) A
(D) =
(B) foen

4= fRu T foew 9 O e s = e Fifsm
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(1) e (A). (C), (D) 3R (E) (2) FFF (A). (B). (C) 311 (E)
8) = (A), (B) R (E) (4) =ae (B). (C). (D) 3k (E)

[Question ID = 3560][Question Description = Q49_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13703]
2. 2 [Option ID = 13704]
3. 3 [Option ID = 13705]
4. 4 [Option ID = 13706]

5) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere, India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration, Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.

Frmifiea e At 3i A9 fw o s R -
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The passage highlights

(1) The emergence of India as a super power

{2) The role of culture for peace and harmonious relations with other countries

(3) India’s cultural hegemony

(4) India’s relations with BRICS countries

WS TS FeA

(1)  YRd = 95Nk % ¥4 °§ 31957

2) @t % g i i dieryel gt 3 wenla F g
(3) WG F WiEHH Sl

(4)  HRA I 99 2 & " g

[Question ID = 3561][Question Description = Q50_GP_20M0V_52 SHAAN_Shift2]

1. 1 [Option ID = 13707]
2. 2 [Option ID = 13708
3. 3 [Option ID = 13709
4, 4 [Option ID = 13710]

Topic:- GP_SetZ_A
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1) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data

contained in the table, answer the question

Month-wise Distribution of Sale of PCs
Month Sale of PCs
Percentage (%) Ratio of
Dastribution HP to DELL

July 17% 8:7
August 22% 4:5
September 25% s Gy
October 8% TR
November 12% 7:8
December 16% 7:9

Freifpa aifersr =1 e 4 2 oo o faghan < g0 S 2019 o fRgrex 2019 % s o Fef o
% feraor it wfdmraan qon HP =it DELL #=f3=1 % a9 ety § fafia fsht goment % <= =1 s
geran T 2| gt s | g @t Bl sl i e @eE 45,000 (Tt ger) 21 et 3 far o

3THE & YU T ATT T IR S

st TRt =t mifeE-Taws w1 fHaw

feraror =6 i HP =it

DELL #i

BIGERGI

BRI 17% 8:7
ST 22% 4:5
faarsr 25% 3:2
FTFE 8% 7:5
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What is the ratio of the number of PCs sold of Company DELL during July to those sold during December of the same

company?
(1) 119 : 145
(3) 119 : 135

(2) 116 : 135
(4) 119 : 130

DELL %t % g1 g ot fweer § o= m& ffs dnorst it g =1 ogua a9 27

()  119:145
(3 119:135

(2) 116:135
(4) 119:130

[Question ID = 3562][Question Description = Q01_GP_20M0V_S52_ SHAAN_Shift2]

e it R

Z) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together 1s 45000. Based on the data

. 1 [Option ID = 13711]
2 [Option ID = 13712]
. 3 [Option ID = 13713]
4 [Option ID = 13714]

contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Freifpa aifers =1 s o e oo ue faghar < gy e 2019 o fRgrax 2019 o s Fef o
% farqmor Y wferae @on HP 31k DELL =w=af-mt = waH 2mafy 8§ fafhia B @t % sita =1 sua
e T 2 s sradt d fpfia mit i st B g deE 45,000 (Yarfam g9R) 21 At | fau

Month Sale of PCs
Percentage (%) Ratio of
Dastribution HP to DELL

July 17% 8:7
August 22% 4:5
September 25% 3:2
October 8% TRl
November 12% 7:8
December 16% 7:9

ITTHE = ST 9 99T H1 I 4

Ftt Tt = miiam-Tasa o faa

Hq1E st @Rt = formm
o =i ufawaar HP 317
DELL =
PIGEIGG
TS 17% 8:7
ST 929% 4:5
faamr 25% 3:2
KT 8% 7:5
AR, 12% 7:8
foumsm 16% 7:9

If 35% of the PCs sold by Company HP during November were sold at a discount, then how many PCs of Company HP during

that month were sold without a discount?



www.prepp.in

(1) 882  (2) 1635
(3) 1638  (4) 885

PR TR W HP %99 5 35% Freft wmors gz WSS T a3 wee 7 HP et % e B oo

form w2 = 9% oY
(1) 882
(3) 1638

(2) 1635

(4) 885

[Question ID = 3563][Question Description = Q02_GP_20M0V_52 SHAAN_Shift2]
1. 1 [Option ID = 13715]
2. 2 [Option ID = 13716]
3. 3 [Option ID = 13717]
4, 4 [Option ID = 13718]

3) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together 1s 45000. Based on the data

Freifpa aiferssr =1 e o 2 oo o faghar < g0 e 2019 o fRgrax 2019 o s Fef o
= feror <t wfcraan @on HP 3ift DELL #=f31 = a9 #Haiy 8 faghia feht groment = = =1 s
T T 21 g st A ffig wdt ol ol 3@ @ 45,000 (Farfee zew) 21 arfeem | B
IS = ST O 99T HT I 4

contained in the table, answer the question

Month-wise Dhistribution of Sale of PCs
Month Sale of PCs
Percentage (%) Ratio of
Dastribution HP to DELL

July 17% BT
August 22% 4:b
September 25% e 2
October 8% T b
November 12% 7:8
December 16% 7:9

Fisft wromnt = Tifaen—fasra = fea
ATH it 7Rl = e
o 61 afesraa HP a1
DELL i
BIGEIREI
Sere 17% 8:7
ST 29% 4:5
=R 25% 3:2
ITFEE 8% D
T 12% 7:8
fammsm 16% 7:9
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If the dealer earned a profit of Rs. 433 on each PC sold of Company DELL during October, then what was his total profit
earned on the PCs of that company during the same month?
(1) 6,49,900 (2) 6,45,900
(3) 6,49,400 (4) 6,49,500

IR e 2 DELL %ot % fossar 7w Al womrs W %, 433 = o win e o 39 we

T Tarshar =i Temaam @ e ?

i Y

E L2 AN Nhn

FAR A" F 02 AKX Nnn
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(3) ¥ 6,49.400

n oy L N LA

(4) 16,49,500

[Question ID = 3564][Question Description = Q03_GP_20N0V_52_SHAAN_Shift2]

1, 1 [Option ID = 13719]
2. 2 [Option ID = 13720
3, 3 [Option ID = 13721]
4. 4 [Option ID = 13722]

4) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data

contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
August 22% 4:5
September 25% s Gy
October 8% B
November 12% 7:8
December 16% 7:9

Freifpa oo =1 s o 2 oo ue faghar < g0 e 2019 o fegrex 2019 % o= Fef o
% forqaor Y wfere @en HP 31 DELL =+ttt = waH @ty 8 fahia B @t % sita =1 suma
gerrn T 21 s sradt d fpfia mdt e st i 3w de 45,000 (Yarfam EER) 21 arfeem |3 fao

ITTHE = ST 9 99T HT I 4

Fstt Tt = wifas—Tass = |

HTH st @Rt = form
o =i ufawraar HP a1
DELL =i
PIGEIGGH
TS 17% 8:7
ST 929% 4:5
faamR 25% 3:2
STFEE 8% ¥l
AR, 12% 7:8
fommsm 16% 7:9
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The number of PCs sold of Company HP during July is approximately what percent (%) of the number of PCs sold of Company

HP during December?
(1) 110% (2) 140%
(3) 150% (4) 130%

FE % TEF 5 HP %ot % g s e fFfi oot i wen fooem % wEie O HP #5 % gi se e

Tt Tt 1 wemn w1 e ataea 27
(1) 110%
(3 150%

(Z2) 140%
(4) 130%

[Question ID = 3565][Question Description = Q04_GP_20N0OV_52_SHAAN_Shift2]

1. 1 [Option ID = 13723]
| 2. 2 [Option ID = 13724]
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| 3. 3 [Option ID = 13725]
4. 4 [Option ID = 13726]

3) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCe sold in all these six months put together is 45000. Based on the data

contaimned in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
August 22% 4:5
September 25% 3:2
October 8% 7:5
November 12% 7:8
December 16% 7:9

Freifepa afers =1 e 4 d o o faekar < g0 s 2019 o gt 2019 9% o= e fft o
% forqwor Y wferaa qon HP 3k DELL =+t = woH aafé § fasfig B @t % w1 sama
gz T 2| gt s | e @t Bl ol e @eE 45,000 (Yarfee geR) 21 e 3 far o

ITFHE & STYUT T AT T IR T

=t @Rt =t TTRER- T = e

fereror 1 wiferraa HP 2

DELL #i

I GEIGG

BRI 17% 8:7
I 22% 4:5
forarsr 25% 3:2
IFFZE 8% 7:5
TR, 12% 7:8
femmm 16% 7:9

What is the total number of PCs sold by Company DELL during August and September together?

(1) 10000 (2) 15000
(3) 10500 (4) 9500

3T TE e g TEAl 3 DELL #5901 % G &% 70 Fe (il S0kl 61 9 9 27

(1) 10000

(3) 10500

(2) 15000

4y 9500

[Question ID = 3566][Question Description = Q05_GP_20NM0V_S52 SHAAN_Shift2]

1.1

[Option ID = 13727]
2.2

[Option ID = 13728]
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| Tl

[Option ID = 13729]
4, 4

[Option ID = 13730]

Topic:- GP_5et2_B

1) In which level of teaching promotion of critical thinking is the hall mark?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

fireaor % frm TR T STeTeATeRS: Famad & S99 1 GaSE TR ShaT 27

() (2) IFEY T
(3) fandfi-fam == (4) Tamw o @

[Question ID = 3567][Question Description = Q06_GP_20N0V_52_SHAAN_Shift2]
1. 1 [Option ID = 13731]
2. 2 [Option ID = 13732]
3, 3 [Option ID = 13733]
4. 4 [Option ID = 13734]

2) The key behaviour of an effective teacher is marked by which of the following features? (A) Structuring (B) Teacher
task orientation (C) Instructional Variety (D) Lesson clarity (E) Probing Choose the correct answer from the options given
below :

(1) (A), (B) and (C) only (2} (A), (C) and (D) only
(3) (B), (C) and (D} enly (4) (C), (D) and (E) only

Frrrffigs fftrgarall 3§ @ #1 a@1 srer o fra 1 e o 37

(A) &=

(B) fres-mr-gaitediem
(C) e fafereran

(D) UR-EE

(E) wzas

= fam o fwedl § @ ) s = 9 Hifvw

(1) = (A), B) ()
@ = (A), (O) R (D)
3) @€ (B), (C) 3R (D)
4  Fa (C), (D) 3 (E)
[Question ID = 3568][Question Description = Q07_GP_20NOV_S2_SHAAN_Shift2]

1. 1

[Option ID = 13735]
.2

[Option ID = 13736]
ke

[Option ID = 13737]
4, 4

[Option ID = 13738]

3) Match List | with List Il gives their characteristic features.

List | List Il

(Modes of Evaluation) (Characteristic Features)

(A) Formative Evaluation (1) Compares one student with another student
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(B) Summative Evaluation (ll) Compares the progress of a student against prespecified standards
(C) Criterion-referenced Evaluation (lll) Used primarily for motivational and monitoring purposes of learning
(D) Norm-referenced Evaluation (V) Used primarily for gradation of progress made
Choose the correct answer from the options given below :
(1) (A)-(1V), (B)-(IN), (C)-(D), (D}-(1)  (2) (A)-(IN), (B)-(IV¥}, (C}-(1), (D)-(1)
(3) (A)-(I), (B)-(N), (C)-(IN), (D)-(IV)  (4) (A)~(l}, (B)-(N), (C)-(IV), (D)-(IIN)

-1 % mor geft.I1 1 v <A o g meien i Pl wghe i 2, o quh T ST iR
won 31 g1 v g1l o fae )

-1 T=-11
TeATFA-Tghd TiEm-Tan
(A) Tmiomeas geai @ s faerf H g sl @ o = 2
(B) TheHTcHD GoATehA A wr fmeff H g g Fuife =< @
T 2
(C) Tu wafila geaiA (IID) vuma: sfem < arfivon @ sHEET %
ELAR R
(D) W wEhia e vy wuwa: fromm gy % dvfreer g wEw
T 21

it B o ool 8 @ o s @ e Hifvo

1) @-aAv). (B)-dAI. (O-(D). (D)-dD
2  (A-AID. B)-AV). (C-AD. (D)D)
@)  A-AD. B)-1@). (O)-1l). (D)-IV)
@  A-D). B)-1I), (O)-(IV), (D)-dID)

[Question ID = 3569][Question Description = Q08_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13739]
2. 2 [Option ID = 13740]
3. 3 [Option ID = 13741]
4, 4 [Option ID = 13742]

4) Given below are two statements :

Statement | : One of the basic principles of progressive view of teaching is that education should be life itself rather than a
preparation for living.

Statement Il ; According to reconstructionist view of education the new social order must be ‘genuinely democratic’,
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

Rasmftm? .

F9 (D) : Toraror = i (yfereiier) gfemrmr =1 o wEE fagra @ T fen Faw sl 6
Fart TE g Az S T ¥ Wt Sfea aE wie)

9 (1D) : Torem % yfmorErd R o & eraR = g s fitee =0 @ wateE
T =T

IR wRYH =h 3TlR H, A= 8 T fomeul § ® UEl SAY w1 A it

(1) =9 () ST dn A a8
)  woF (1) 3R (ID) SFF 20T §

3w () g 2, dAfFE wy (1) 10 2

@) = () 39 2, 9 w5 (D 93 2

[Question ID = 3570][Question Description = Q09_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13743]
2. 2 [Option ID = 13744]
| 3. 3 [Option ID = 13745]
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| 4. 4 [Option ID = 13746]

%) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

prepp
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Assertion (A) : ‘Teaching’ involves critical and creative interchanges between teacher and learner and hence it is different

from ‘instruction’ and ‘training’.
Reason (R) : Both ‘instruction’ and ‘training’ are directed at lower order cognitive interchanges.

In the light of the above statements, Choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT

the correct explanation of (A).
(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

4= g1 wum fiu e 2 ;= orfiEem (Assm*tionA)%Eﬂﬁ%f@ﬁ%ﬁE@ﬁEH%W(ReasnnR)%E

=
w4 H :

SRR (A) | forem, Rrgw wa sfrmwdl = A wligers @ e TEn s geEia

FAT 2, 39 TT YA @ winewr g B 2
7 (R) ‘I’ T Ui 241 8 WIS SEF-UEH % e Tt 9 wEfad g1 8
SWTh BN T A |, 119 T T fedl § U 999 SR SR W A il

(1) (A) IR @®) AT T E o R). (A) F Tl =em 2

@ (A IR ®) I = E, S R). @) B 7 = TE 2
(3) (A= 2, «fe (R) & 76 2

@ Q@A R EE R

[Question ID = 3571][Question Description = Q10_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13747]
2. 2 [Option ID = 13748]
3. 3 [Option ID = 13749]
4. 4 [Option ID = 13750]

6) In which of the following researches, attempts are made to establish context-free generalizations?
(1) Phenomenology (2) Grounded theory
(3) Symbolic interactionism (4) Experimental Studies

forterfiga =gl o @ Frar wevian am=fisor < wma % s feg = &7

(1)  FZAT-gea-gard (2) eI fUgra
(3)  wiwreE Stk (4) TEARTIHE A

[Question ID = 3572][Question Description = Q11_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13751]
2. 2 [Option ID = 13752]
3. 3 [Option ID = 13753]
4. 4 [Option ID = 13754]

7) Identify the main features of ‘qualitative research’ from the following :

(A) It is concerned with understanding the phenomena from the participant’s perspective
(B) It assumes that there are social facts with a single objective reality

(C) Researcher becomes immersed in the situation, present or past

(D) Researcher is detached from the study to avoid bias

(E) There is greater flexibility in both the methods and research process

Choose the correct answer from the options given below :

(1) (A), (C) and (E) only (2) (A), (B) and (C) only

(3) (B), (C) and (D) only (4) (C), (D) and {(E) only

et < et fergtanatt | @ e we 6 ggwE W)

A =g wfawrft & afdiss @ gear & smey @ arafe 2|

(B)  THH TE W ST 3 AW 99 Fow Uh SegiiE awd & 9 B 3
(© el o syaefer afeufEt § fe s 2

(Dy el qEiE & =A% TAT T 3 A aTeE W g W T )
(B) 389 woneht s mo-wfhar <At & aefiene gt 2)
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S f2u o fermmedl | o gt 39T = == it

1)  =Ed (), (O) 3 (B)
@  F\EEA), B) IR ()
(3) @A (®B), (O) ¥R (D)
@  %ada (C), (D) 3R (B)

[Question ID = 3573][Question Description = Q12_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13755]
2. 2 [Option ID = 13756]
3. 3 [Option ID = 13757
4. 4 [Option ID = 13758]

8) Match List | with List Il :

List | List Il

Methods of research Features emphasized

(A) Experimental (I} Primary and secondary sources tapped with emphasis on internal criticism
(B) ExPost Facto (ll) Status of facts and conditions are ascertained

(C) Descriptive  (lll} A variable is manipulated to see its effect on other variable

(D) Historical (V) The differences are noted and factors causal or otherwise are determined
Choose the correct answer from the options given below :

(1) (A)-(), (B)-(IN), (C)-(IM), (D}-(IV)  (2) (A)-(I1), (B)-(1), (C)-(IV), (D)-(IIN)

(3) (A)-(ll1}, (B)-(IV), (C)-(I), (D)-(I)  (4) (A)-(IV), (B)-(lI}, (C}-(1), (D)-(I1)

=1 = 91y gE-IL @ e i
-1 Ti-11
e gt w7 fosiward
(&) vEANTEES () ST=Afer SAEEA T aE S8 g9 S o
fecfters Sial =1 wuEm 2 2
(B) AT D) wifegfeal v aen H Gty ghfeaa 6
A 2l
(C) T D) @ =/ W 8 5 % o oF = H /-
T = 2
D) T @) g =1 @9m o0 3 AR seEn o=
FIH AT ad T S 21

43 f5u 7o fepedl ° ¥ w91 I W 99 Hie0

1 (A-D. B)-ID). (O)-(IID). (D)-{IV)
2y  A-AD. (B)-1@). (O-IV). (D)-dII)
(3) (A1), B)-@V). (C)-(ID). (D)-(I)
4  (A-AV). B-ID, (C)-(D, (D)D)

[Question ID = 3574][Question Description = Q13_GP_20M0V_52_ SHAAN_Shift2]
1. 1 [Option ID = 13759]
2. 2 [Option ID = 13760]
3. 3 [Option ID = 13761]
4. 4 [Option ID = 13762]

9) Given below are two statements

Statement | : Data analysis in research being a technical job, ‘research ethics’ does not matter.
Statement Il : ICT is helpful almost at all stages of research.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement |l are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement |l is false, (4) Statement | is false but Statement Il is true.

A=l 31 b g e E

P9 () : FTEYE H Tea-faveiue UF a9-hl BE ZH 5 HAU SEaH-SEREE SR

TEE A &
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P (1D : ITETEYF % TR Toish =01 | 218 41.A, TEre i 2|

U U & AR 4, 419 15U T faewedl § o 9 s = =wa hifay

(1)  FE () o (D) 2 ¥4 2
(2 FA () it (D) 2 1EeT &
(3) = (1) ued 2, o =e (1D w9 B

(4) = (D) 39 &, dfoed e (D oA B

[Question ID = 3575][Question Description = Q14_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13763]
2. 2 [Option ID = 13764]
3. 3 [Option ID = 13765]
4. 4 [Option ID = 13766]

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : When Null Hypothesis (HO) is rejected, researcher’s hypothesis (H1) is accepted.

Reason (R) : Null Hypothesis (HQ) is a chance hypothesis and as such (H1) being true, the researcher’s hypothesis lies in the
domain of acceptability.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) 15 correct but (R) is not correct. (4) {(A) is not correct but (R) is correct.

=t @ e fqu e § : o AfuR (Assertion A) % ¥ # fRad § @ 590 U R0 (Reason R)

TA :
st (A) - v FORoiE aiEFeT T (Td) SR W SR 2 0 STTEUEhal i AR
(wa;) wia g = 2

FT (R): Rt gieheum (Telo) € WIS aieheu ] 2 3R UaT (Ten) Wed 'H % R
FTTEFTRA 31 ITUREIT TaRfe = aidd § a1 S 2)

SHRIE FYA F o o, i e e fered § O uey U ST W 99 S

1) (&) R ®) I W E & (R), Q) F =

@ @ IR @) I = E, 9 R). () B wd w1 R
3 (AT E, A (R) T T R

@ Q)T 2, aFE (R) w9 2

[Question ID = 3576][Question Description = Q15_GP_20NOV_S2_SHAAN_Shift2]
. 1 [Option ID = 13767
2 [Option ID = 13768
3 [Option ID = 13769]
. 4 [Option ID = 13770]

oW =

11) Which of the following is an exclusive example of Non-verbal cue that includes the pitch, rate, volume and use of
pauses?
(1) Linear Model of Communication (2} Interactional Model

(3) Non-Verbal Cues (4) Para-Language
frafoafaa § @ =9 oo o 1 3 Soewm & R s-eme (fm), & (®), amn (atem)
it form (9i) 1 w=Em s 27
(1)  @=u g Aisa (2) FAEE Tg
(3)  SpudE g (4) IO T
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[Question ID = 3577][Question Description = Q16_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13771]
2. 2 [Option ID = 13772]
3. 3 [Option ID = 13773]
4. 4 [Option ID = 13774)

12) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : In the context of communication, the perceptual process creates, semantic-noise also called word-noise.
Reason (R) : The various meanings either cannotative or denotative are sources of semantic noise.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

e o7 e fou e 2w AU (Assertion A) % w9 ¥ faflgg # @1 g0 3% FR (Reason R)
A

FMRRA (A) YU % HegH H AAHICHF UhAT Wieed i Ianiea il & g misss-Ti
(aE—=ma=) Fad 2

F (R) ; WIS A1 FaaYF S = 1919 3120 & Gia Mises -9t 2t 2l
STUE HAl 6 3T °, e fge e fament °§ g ded 39w 9 B =95 i

D (&) st ®) S E st ®). (&) B w2

2 Q) W ®) T T E, I (R). Q) F T e 76 2
3) (AW F, A (R) WE T 2

@ (A wE R, 9 R) wE 2

[Question ID = 3578][Question Description = Q17_GP_20NOV_52_SHAAN_Shift2]
1. 1

[Option ID = 13775]
2l

[Option ID = 13776]
Fui 3

[Option 1D = 13777]
4, 4

[Option ID = 13778]

13) Given below are two statements :

Statement | : Appropriate word choice is an essential of effective oral communication.

Statement Il : Facial expression and postures fall under visual communication.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement |l are true, (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement |l is false. (4) Statement | is false but Statement Il is true.

fRasmftem .
H (T) : Tt aTfe TEE 23 W WSl 1 99 AT B
b (1D : tiifiges ume T wRE gTa-geme % a1 2

ITRF A & A °, 99 G v et § o @t s = wwa i

O weE @) 3R D 3 9 B

@  weE (D) 2 (1D 3F 2 &
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3) = (D) A 2, A wem (1) e 2

(4) = (D) ueT 2, o =ae (D) w2

[Question ID = 3579][Question Description = Q18_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13779]
2. 2 [Option ID = 13780]
3, 3 [Option ID = 13781]
4, 4 [Option ID = 13782)

14) ldentify the barriers to communication from the list given below :
(A) Time and distance

(B) By-passed instructions

(C) Encoding of thoughts and ideas

(D) Decoding of thoughts and ideas

(E) Logical sequence

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only

(3) {C) and (D} only (4) (D} and (E) only

seitfeafian g & & wew B el B e -
&) = sigd
(B) ufEa sge

(©) U wd frem = $esg w0
(D) @i= = foew =i e -ag w
(E) i mn

1 feu U fomedi § ¥ @El IO = $ifag

(1) == (A) 3R (B)
2 %= (B) 3 (C)
(3 ¥ (C) R (D)
4) e (D) 3R (E)

[Question ID = 3580][Question Description = Q19_GP_20NOV_S2_SHAAN_Shift2]
1. 1
[Option ID = 13783]
2. 2
[Option ID = 13784)]
3. 3

[Option ID = 13785]
4, 4

[Option ID = 13786]

15) Match List | with List Il :

List | List Il

Types of Communication Main features

(A) Downward Communication (1) Grows primarily to meet organizational/member’s need for communication
(B) Upward Communication (ll) It forms a useful link in decision making for task coordination

(C) Horizontal Communication (lll) Provides management with feedback about current issues and problems
(D) Grapevine Communication (IV) It is the most common communication system in an organization

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(I), (C)-(IV), (D)-(111)  (2) (A)-(I1), (B)-(I), (C)-(NI), (D)-(IV)

(3) (A)-(I1), (B)-(V), (C)-(1), (D)-(11)  (4) (A)-(IV), (B)-(11}, (C)-(I1}, (D)-(1)

g1 % = git-11 = free =hifsme
g1 T 11
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(A)  TeiTTet ST () @& % TS H gEEu il AETESar B
0 F % for vgwa 3 wg@ B

(B sufert @i Al) wr-un=es 2g fom @& 8t sweh
HIeqH ST 2

(€ &@fos T A1) =due fow w wmeenet £ gfqgfe & wy
S Ed T 2

(D) U7 T (IV) Trdt «ff gen w1 3% gd-umE gEigg
i

I i o few § O OF ST = i

(1)  @-O. B)-dD), (C)-{IV), (D)-1IL)
2 @-ADh. B)-O). O)-d1). (D)-AV)
3  @-AID. B)-AV). (O-(D). D)-AD
@)  (A)-0V). (B)-I), (C)-(1I), D)-(D

[Question ID = 3581][Question Description = Q20_GP_20NOVY_S2_SHAAN_Shift2]
1. 1 [Option ID = 13787]
2. 2 [Option ID = 13788]
3. 3 [Option ID = 13789
4. 4 [Option ID = 13790]

16) If the cost price is 25% of selling price, then what is the profit percentage?
(1) 100 (2) 200
(3) 300 (4) 400

af e, fasagea =1 25% & a1 o9 6 i F4r 8 7

(1) 100 (2) 200
(3) 300 (4) 400

[Question ID = 3582][Question Description = Q21_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 137%1]
2. 2 [Option ID = 13792]
3, 3 [Option ID = 13793]
4. 4 [Option ID = 13794]

17) A seller mixes 26 kg rice of a price of Rs. 20/kg, with 30 kg of different variety rice of a price of Rs. 36/kg. He sells
both the mixed rices at Rs, 30/kg. What will be the profit in percentage?

(1)5% (2) 10%

(3) 15% (4) 20%

wsh foghal 26 Frell a5, 20/Fhell % 3t W wlE W IEd gm R B 30 Feell g firen 3@ @ B
359 & 36 /TR % T W @l o o7 38 vR fufim gu e # % 30/ % 9 W Sear 31 59 W

#t afaeraar 31 T 7
(1) 5% (2) 10%
(3)  15% (4) 20%

[Question ID = 3583][Question Description = Q22_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13795]
2. 2 [Option ID = 13796]
3. 3 [Option ID = 13797]
4. 4 [Option ID = 13798]

18) A milk man purchases milk at Rs. X per litre and sells it at Rs. 2X per litre. Still he mixes 2 litres of water with every 6
litre of pure milk, What is his profit percentage?

(1) 33.33  (2) 66.66

(3) 133.33  (4) 166.66

uw gru-fisea T, X/t % @ W 39 wlg F 3. 2X/R F R W A= 3| dE6g 39 97 2 wied gt
ST 6 THeX WG 39 A e g 2| Seeh e it i w4 27

(1) 33.33 (2) 66.66
(3) 133.33 (4) 166.66
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[Question ID = 3584][Question Description = Q23_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13799]
2. 2 [Option ID = 13800]
3. 3 [Option ID = 13801]
4. 4 [Option ID = 13802)

19) The average monthly income of P and Q is Rs. 5,050/-. The average montly income of Q and R is Rs. 6,250/- and that
of P and R is Rs, 5,200, What will be the monthly income of P?

(1) Rs. 3,000/- (2) Rs, 3,500/-

(3) Rs. 4,000/- (4) Rs. 4,500/-

P ot Q i sitem mifiss o1 5050 04 2, Q 3ft R & ofiga oifims o1™ 6250 ¥03 a9 P ot R &6

sitea Tifées 5@ 5200 T9F 21 P i o o feoed 2 v

(1)  3.000/- ¥ @)  3.500/- ¥

(3)  4.000/- %93 (4)  4,500/-¥3

[Question ID = 3585][Question Description = Q24_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13803]
2. 2 [Option ID = 13804]
3. 3 [Option ID = 13805]
4. 4 [Option ID = 13806]

20) The average of 4 terms is 20, and the first term is 1/3rd of sum of the remaining 3 terms. What will be the value of
first term?

(1) 15 (2) 20

(3) 25 (4) 30

4 Tl F ftET 20 B O IS HEar I 3 e & A H 1/3 2| USell Hea w1 0 o 2 ¢

(1) 15 (2 20
(3) 25 4 30

[Question ID = 3586][Question Description = Q25_GP_20M0V_S52 SHAAN_Shift2]
. 1 [Option ID = 13807]
. 2 [Option ID = 13808)
. 3 [Option ID = 13809]
. 4 [Option ID = 13810]

T

=) According to Naiyayikas we ascertain the relation of universal concomitance between x
and y :
(A) We can determine the relation only i1f we can determine the relation of essential
1dentity between x and ¥
(B) By perceiving that in all cases the presence of x is accompanied by the presence of ¥

(C) We can determine the relation only if we can determine the relation of cause and
effect between x and ¥

(DY By not perceiving any instance where the presence of x 18 not accompanied by the
presence of ¥ or vice-versa

Choose the correct answer from the options given below :
(1) (A) and (C) only
(2) (D) and (C) only
(3)  (B)and (D) only
4) (A (B)and (C) only
Featisl % AR 29 x AR y § aEdifis ssmira = aweg gited w9 2

(A)  x 3R v = o= UiEE e SHAEl ChIeHdl B G JiAeEd B W 3] 59 TR B 9F
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Tl iyt 5 x it Ul B T y F1 R YT B A1 I9F W

=0 T Fi adl gEHTEa B T & 99 29 x A y 5 oF BE-F0 Gy GHved B ol
x =i Ufeyfa % Wy y Hi SEIRA Ay F WEUE F WY x 1 AEEAT = B gE W

o |
(B)
(C)
D)
I 7 Hh|
et feu T fammeat 9 4 w8 s 1 == it
1) == () AR (O
2 %= (D) 3R ()
(3) = (B) ¥ (D)
@ ¥ (A), (B) 3K (C)

[Question ID = 3587][Question Description = Q26_GP_20NOV_52_SHAAN_Shift2]

oW 2 =

. 1 [Option ID = 13811]
2 [Option ID = 13812]
3 [Option ID = 13813]
. 4 [Option ID = 13814]

22) Matoh List I with List IT :

List I

(A) Vyapti

(B) Linga

(C) Sadhya

(D) Paksa

List IT
(I)  The property being inferred
(II) Locus of hetu and Sadhya
(III) Saign or reason

(IV) Universal concomitance

Choose the correct answer from the options given below :

oy
(2)
(3)
(4)

(A)-D), (B)-(ID), (C)-(II), (D)-(IV)
(A4)-aD, B)-(11). (C)-d), (D)-aAV)

(A)-IV). (B)-(I1D). (C)-(D, (D)-(1I)

(A)-aID. B)-D). (O)-AV). (D)-1I)

geh.I % @ geh-11 1 e B

(&)
(B)

(©

(D)

i fam

(1)
2
3
(4)

i1
=i

T
reT

]

7o fFed 9 O Tar SR 9 i

(A)-(D). (B)-(IL). (C)-AI). (D)-AV)
(A)-(D. (B)-(ILD, (C)-(D. (D)-IV)
(A4)-AV). (B)-dID). (C)-(). (D)-AD)
(A)-(II). (B)-@). (C)-AV), (D)-II)

11
(D 7o =1 IFAEE
(ID) &g 2 ared = ©H
(III) TeFaT 3T HRA

(IV) wrEsties gemiia

prepp
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[Question ID = 3588][Question Description = Q27_GP_20N0V_52_SHAAN_Shift2]
1. 1 [Option ID = 13815]
2. 2 [Option ID = 13816]
3, 3 [Option ID = 13817]
4. 4 [Option ID = 13818)

23) Given below are two statements :

Statement I : According to Classical Indian Logic the fallacies (hetvabhasa) are not

errvors of inference, but rather hindrances to inference.

Statement II: A fallacy 1s really a “seeming reason or mark” (hetvabhasa), which. if

recognized, would prevent the inferential cognition from arising.

In the light of the above statements, Choose the correct answer from the options given

below :
(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement Il are false.
(3) Statement I 1s true but Statement II is false.
(4) Statement I 1s false but Statement II 1s true.
et gt Py g e £ .
a7 (D) : IR o aohaITe S AT TeatiE AIHH I S T8l wifug sHagH )
%97 (II) : TEAIAT Tgd: SN B Y Wehd & o PR U § WY 9 FgAE g5

$i Seafer =1 fHemor s 2

ITUH HUA % T 8, A= fBu 1v el 3 8wt sw W = Al

(1)
(2)
(3)

4)

o (I) 3T (1) 39 7a 2
e (1) 3T (1) 21 s1@ca 8
¥ (1) Ted 2, i %99 (ID) 3/9ed 3

Fu (D) 979 2, of 599 (D ¥ 2

[Question ID = 3589][Question Description = Q28_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13819]
2. 2 [Option ID = 13820]
3. 3 [Option ID = 13821]
4, 4 [Option ID = 13822]

24) *“‘All radically egalitarian societies are societies that do not preserve individual liberties’’.
Which of the following statements is true with reference to the above statement?

(1) “*No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is logically equivalent.
(2) “*No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is not logically equivalent.
(3) “*Some radically egalitarian societies are societies that preserve individual liberties’’ is converse of the given statement
and it is logically equivalent.
(4) ‘‘Some radically egalitarian societies are not societies that preserve individual liberties’’ is converse of the given
statement and it is logically equivalent.

“Terd: Al FHAEE aaT U oA € o dufen @ o w18 W £ sreiffigg s O 9 e
g1 = IULH b g2 0 "el 27

T F - - il M - By — s - . —
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{1) iz HI Hoid: HHEAEIGT HT YHT HHTS gl & 91 d4Tthesh HEd-=dl sl JEd idl g 15Y T -

=1 4% Ufdafda o 2 ST qifes w9 ¥ gaded 2

(2) i o Yo GUEETE U U @ Fe 8 S Safed waaear Y alidE e 2) e e e
=1 A7 Wiaataa I & IR G 9 ¥ 2/mged &l

(3) 9 Uu0: THAEE GHS UE FA ¢ S dakes @ sida 8 Ry T wea w9 vhige
amd 2 33 qifde ' ¥ 7uE 2|

(9  FB YTE: GUAER] TS O G 6 6 S Safew e o el w5 2| e e e w5 g
it T 2 iR @i B9 ° Taged 2

[Question ID = 3590][Question Description = Q29_GP_20NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 13823]
2. 2 [Option ID = 13824]
3. 3 [Option ID = 13825]
4. 4 [Option ID = 13826]

25) Two propositions are contradictories if ;

(1) One is denial or negation of the other

(2) If they can both be true but cannot both be false

(3) If they have different subject and predicate term and differ from each other in both quality and quantity

(4) If they have the same subject and predicate terms but differ from each other only in quantity but not in quality

71 afagfeet s 2 =12

(1) =, g W g w2 9 T a2

(2) 3P, QA GeT T WHAI & AR g1 3T TR | wahdi

(8) 3R 3T 3277 iR fag=m ug fi= ¥, v 7w okt AEn o s 2

(4) R I I2EA SN e gue € ofi 3 ke aen o a e E weg e § aifim )

[Question ID = 3591][Question Description = Q30_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13827]
2. 2 [Option ID = 13828]
3. 3 [Option ID = 13829]
4. 4 [Option ID = 13830]

26) What is the binary equivalent of the decimal number 67.625?
(1) 1000010.110 (2) 1000011.110
(3) 1000010.101  (4) 1000011.101

WA G 67.625 w1 fgenardt wuges # 27

(1) 1000010 . 110 (2) 1000011. 110
(3) 1000010 . 101 (4) 1000011. 101

[Question ID = 3592][Question Description = Q31_GP_20NOV_52_SHAAN_Shift2]
1.1

[Option ID = 13831]
2, 2

[Option ID = 13832]
3.3

[Option ID = 13833)
4, 4

[Option ID = 13834]

27) Identify the correct order of the following different types of computer components ranked from fastest to slowest in
terms of access time.

(A) RAM

(B) Optical Drive

(C) CPU Cache

(D) SSD

Choose the correct answer from the options given below :

(1) (B), (D), (&), (C) (2) (C), (D), (A), (B)

(3) (A), (B}, (C), (D) (4) (C), (A), (D), (B)

Uiy 2I5H Bl ST T TEd B @ A o ged i, ok % 3 % 13w e sl 4 o wdt wu R veeE
Gy
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(A @

(B) i gra

(C) #idLyg, H9

(D) ug.ua gl

2 fou o fepeat ¥ € @& I w = Hife

1 B). D). A). ()
2 (0. D). A). 3B

@) A, B, ©). D)
@ (0. A). D). ®)

[Question ID = 3593][Question Description = Q32_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13835]
2. 2 [Option ID = 13836]
3. 3 [Option ID = 13837]
4. 4 [Option ID = 13838]

28) Given below are two statements :

Statement | ;: The abbreviation ‘MOOC’ stands for ‘Massive Open Online Courses’,

Statement Il : The abbreviation ‘SWAYAM’ stands for ‘Study Webs of Active-Learning for Young Academic Minds’,
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement |l are true, (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement |l is false. (4) Statement | is false but Statement |l is true.

i g o feg e g

w9 () g, 317 315, T noee @ - BfFa o sy wee

1 (D) : Y, S, IS CUH, I Haeds & — Sl owH ATk UfFea-wiHn K I vehsfiew
LS

ITHE R = WiTereR d, J A T foemeat F @ gt sow = =ea Hifae

(1)  weF (D) 2 (ID) 3 aeT &
2 = () SR (D A 3TEA &

(3) @A (1) ued 8, e #9a (D) 159 2

@ FW Q) 2, S w5 (1) O 2

[Question ID = 3594][Question Description = Q33_GP_20M0V_S52_ SHAAN_Shift2]
1. 1 [Option ID = 13839]
2. 2 [Option ID = 13840]
3. 3 [Option ID = 13841]
4, 4 [Option ID = 13842]

29) Which of the following statements are related to the role of ICT in citizen services?
(A) Access to public documents

(B} On-line payments

(C) Better medical education across the country

Choose the correct answer from the options given below :

(1) (A), (B) and {C) (2) {A) and {C) only

(3) (B) and (C) only (4) (A) and (B) only

frefafiga § 8 -2 ¥ B9 TR @@ 7 s, F gfire 8 geatea £2
(A) AR SEES @ dgd

(B) HAH-TEA FraH
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1) A, B®) R (C)
2)  Faw (A) 3R (C)
(3)  aw (B) 3 (C)

(4)  %aw (A) 3 (B)

[Question ID = 3595][Question Description = Q34_GP_20N0OV_52_SHAAN_Shift2]
. 1 [Option ID = 13843]
2 [Option ID = 13844]
3 [Option ID = 13845]
4 [Option ID = 13846]

-

30) Match List | with List 1l :

List I List Il

(Computer Terms) (Description)

(AY HTML (1) Semantic Web

(B) Web 2.0 (ll) Use of Internet to make phone calls

(C) web 3.0 (Ill) Language used to create web pages

(D) VOIP  (IV) Collaborative web

Choose the correct answer from the options given below :

(1) (A1}, (B)-(1V), (C)-(1), (D)-(11)  (2) (A)-(lID), (B)-(1), (C)-(IV), (D)-(II}
(3) (A)-(I), (B)-(IV), (C)-(1), (D)-(II)  (4) (A)-(IV), (B)-(llI}, (C)-(1), (D)-(IN)

g1 % @y gEt-1l = faem it

-1 gfi-I1

HurERE UE oo
(4) wad . @ w49
(B) =% 2.0 (ID) i Fed FH & e etz w uam
(C) =% 3.0 (III) == o t F9H = e e =6 7% <res
(D) off.21.a7me . (IV) HsEifes 39
e fam T famedt O @ wE I W T A

(1) A-dID, (B)-aV), (C)-(T), (D)-(ID
2  A-AID. B)-D. (O)-AV). (D)-aAD
@ A-dD. B-av). (O)-D, (O)-dID
@  AQ-av). B-aID). (C)-1), D)D)

[Question ID = 3596][Question Description = Q35_GP_20NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 13847]
2. 2 [Option ID = 13848]
3. 3 [Option ID = 13849]
4. 4 [Option ID = 13850]

31) Given below are two statements :

Statement | : Noise Pollution has an adverse impact on hearing ability as well as psychological well being of a person.
Statement Il : Human perception of noise levels is linear,

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement |l are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

4= 3 e fRu o 2 -
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[Question ID = 3597][Question Description = Q36_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13851]
2. 2 [Option ID = 13852]
3. 3 [Option ID = 13853]
4. 4 [Option ID = 13854]

32) Which country is in the process of setting up the largest integrated solar-wind energy park of 30 GW capacity?
(1) China (2) India
(3) Australia (4) Saudi Arabia

freforiga 9 & ®F 71 39 30 fm are fi awar o Gva % g9y 53 gR-ag-Sei-sum B T i
ufsFar § wem 27

(1) =\ (2) 9ra
(3)  @ifem (4) wdi-arm

[Question ID = 3598][Question Description = Q37_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13855]
2. 2 [Option ID = 13856]
3. 3 [Option ID = 13857
4. 4 [Option ID = 13858]

33) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R,
Assertion (A) : There has to be an integrated approach to achieve the targets of Sustainable Development Goals (SDGs).
Reason (R) : Many of the 5DGs are interconnected,

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and {R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R} is not correct,

(4) (A) is not correct but (R) is correct,

= 3w fqw e F : oF e (Assertion A) F W ¥ fafaw ® 9 780 30F w9 (Reason R) %
A

TRy (A) Heywvie e @ (vg, €Sl ) o mih 29 e T aeeEs 2|

O (R) : %3 TH.IL. g B
SIRI HUA] & TR o, A faw o foemedt o @ awd sygeh I o =EA hifaw

1) (A 3R ®) 3 = E ol ®). (&) H wd =

2) (A 3R R) AT T E, A (R), (A) h wdl e @ 2
3 (A= E, 9 (R) @8 76 7

@) QTR IR R R

[Question ID = 3599][Question Description = Q38_GP_20NOV_S2_SHAAN_Shift2]
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| =t

[Option ID = 13859]
7.2

[Option ID = 13860]
X

[Option ID = 13861]
4, 4

[Option ID = 13862]

34) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion {A) : Mankind’s interaction with Earth has led to a highly complex and diverse ecosystem to an increasingly

degraded environment.
Reason (R) : Many of the changes taking place in Earth’s environment are irreversible.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of {(A).

(2) Both {A) and (R) are true but (R) is NOT the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

31 = fog 7 2 Sl (Assertion A) F w9 7 forftyd ® A g0 3@ FAW (Reason R) %

4
T H :

HATFRA (A) : ST 3 T 9T 3 Sowate ol fafraagyr witfeytas-a # 3 ot s
TS ATl H gRatad @ e 2

o (R) HRAdl % AEER B B @ 3% Giee s B

ST FUA T ST H, 9 e T e 1 O wEl ST W =99 i

1) (A @) e 3R (R). (A) Fw@E e §

@ (&) R R) I T 2, A ®R). (A) B e T 2

3)  (A)Te B, @ (R) 98 smeT 2

@ (A s T 3, A (R) w6 3

[Question ID = 3600][Question Description = Q39_GP_20NOV_S2_SHAAN_Shift2]

1. 1

[Option ID = 13863]
2. 2

[Option ID = 13864]
Al

[Option ID = 13865]
4, 4

[Option ID = 13866]

35) What percentage of India’s land is vulnerable to earthquakes?
(1) ~ 57% (2) ~ 42%
(3) - 37% (4) - 28%

Wi Y et afawa yf o e i sy §
(1) ~ 57% (2) ~42%

(3) ~ 37% 4 ~28%

[Question ID = 3601][Question Description = Q40_GP_20NOV_52_SHAAN_Shift2]
| 1. 1 [Option ID = 13867]
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| 2. 2 [Option ID = 13868]
3. 3 [Option ID = 13869]
4. 4 [Option ID = 13870]

36) Which of the following is most effectively promoted by Globalisation among the societies?

(1) Monocultural values
(3) Regionalisation (4) Self centredness

(2) Multicultural values

frafafaa 4 #9900 R o9 9 98 Y ¥ S 5 watdy e s @ 87

(1) U GeHla® I
(3)  af

(2) g WEplah e
(4) T

[Question ID = 3602][Question Description = Q41_GP_20NOV_52_SHAAN_Shift2]

1. 1 [Option ID = 13871]
2. 2 [Option ID = 13872]
3. 3 [Option ID = 13873]
4. 4 [Option ID = 13874]

37) CBCS stands for

(1) Choice Based Central Schemes
(3) Central Board of Credit Schemes

& ow. = Aaes & -

(1) =aEd st 4= =hig
(8) T TS ATH WS Thrd

(2) Choice Based Credit System
(4) Credit Board of Central Sponsors

(2) =aEH STE wise fiwen
(4) HfEe T2 ATF FZa WiEE

[Question ID = 3603][Question Description = Q42_GP_20N0V_52_SHAAN_Shift2]

1. 1 [Option ID = 13875]
2. 2 [Option ID = 13876]
3. 3 [Option ID = 13877]
4. 4 [Option ID = 13878

38) COVID-19 acronym stands for
(1) Corona Virus Disease 2019
(2) Corona Virus Disease strain 19
(3) Corona Yirus Disaster 2019
(4) Corona Virus Disease 2020

Fiag-19 1 7aad ¢ -

(1) =T g S o17% 2019
(2) =R IR e w21 19
(8) =BT AEE feoIRex 311 2019

(4) R A fedfiw 2% 2020

[Question ID = 3604][Question Description = Q43_GP_20N0OV_52_SHAAN_Shift2]

1.1

[Option ID = 13879]
2. 2

[Option ID = 13880]
3 3

[Option ID = 13881]
4, 4

[Option ID = 13882)

39) NITI Aayog is
(1) National Institution for Transforming India

(2) National Institute of Technology Integration

(3) National Institute of Technological Innovation (4) National Institute of Transformation and Innovation

-
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[Question ID = 3605][Question Description = Q44_GP_20NOV_52_SHAAN_Shift2]
. 1 [Option ID = 13883]
2 [Option ID = 13884]
3 [Option ID = 13885]
. 4 [Option ID = 13886]

P

40) Match List | with List 1l

List1 Listll

(Days Celebrated) (When)

(A) Earth Day (1) 24 January

(B) UNO Day (lIl) 5th June

(C) Environment Day (lll) 24th October

(D) International Day of Education (IV) 22nd April

Choose the correct answer from the options given below :

(1) (A)=Q1), (B)-(IN), (C)-(M), (D)-(IV)  (2) (A)-(IV), (B)-(1l1}, (C}=(1), (D)-(I)
(3) (A)-(I1), (B)-(V), (C)-(1), (D)-(1I)  (4) (A)-(IV), (B)-(1l1}, (C)-(I1}, (D)-(D)

-1 % "y gH-11 =1 firem fife
i1 g1
feera foofi
(A) vet-feam D 24 5=l
(B) oy T v fomw D s
(C) R -Tea (AID) 24 2IHRR
(D) g fren fam (IV) 22 21«
Hra fou 7o freat 9 O o SR T 9me i

(1) (A)-D). (B)-ID), (C)-1I). (D)-(IV)

2)  @-AV), B)-1ID, (O)-D), (D)-(1L)

(3)  (A)-an. B-av). (O)-), (D)-dIn

4)  (A)-AV). B)-a1). (C)-1I). (D)-@)
[Question ID = 3606][Question Description = Q45_GP_20M0V_52 SHAAN_Shift2]
. 1 [Option ID = 13887]
2 [Option ID = 13888]

3 [Option ID = 13889]
4 [Option 1D = 138%90]
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